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QUESTION 1

Which statement is true about a join rule?

A. Itis triggered by events that match a single set of conditions.

B. It matches the output of more than one simple rule to an Active List.
C. It recognizes patterns that involve more than one type of event.

D. It rejects partial matches but can be set for aggregation.

Correct Answer: C

QUESTION 2

The Packages view in the ArcSight Console Navigator provides access to all discrete resources that are part of a
package in a single view. The dependency view toggle in the Package tree header shows required packages, which are
packages on which other packages depend. What is the visual indicator of this dependency?

A. The package name is underlined.

B. The package name is shown in hold font.

C. The package icon contains a red asterisk.

D. The package icon is highlighted in yellow.

Correct Answer: A

QUESTION 3

What is the impact of checking Auto Update on the Search Results header, and selecting a time of 2 minutes?
A. The time span for this search to complete is limited to 2 minutes, and the current results are displayed.

B. The current field set is refreshed, and any results that changed in the grid are flagged with a highlight.

C. The current search query is rerun every 2 minutes following selection of the Auto Update check box

D. ArcSight Command Center checks for any new software updates occurring in the previous 2 minutes.

Correct Answer: B

QUESTION 4

You are unable to see events from a specific device in the Console. The Active Channel filters are not the cause. Which
component should you examine next in order to troubleshoot this issue?
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A. Database

B. SmartConnector
C. Console

D. Device

Correct Answer: B

QUESTION 5

Why would you lock a Case?

A. to close and archive a Case

B. to prevent others from modifying the Case while you edit or attach something to the Case
C. to prevent the Case from being seen in the Resource List

D. to preserve the state of the Case

Correct Answer: B
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